

Elementary Formulas For $\Gamma\left(\frac{1}{3}\right)^3$

Edgar Valdebenito

December 10 , 2021

Abstract. In this note we give some formulas for $\Gamma\left(\frac{1}{3}\right)^3$.

Introduction

The (complete) gamma function $\Gamma(n)$ is defined to be an extension of the factorial to complex and real number arguments. It is related to the factorial by $\Gamma(n) = (n-1)!$.

The gamma function can be defined as a definite integral for $\Re(z) > 0$ (Euler's integral)

$$\Gamma(z) = \int_0^{\infty} x^{z-1} e^{-x} dx = \int_0^1 (-\ln x)^{z-1} dx$$

The gamma function can also be defined by an infinite product form (Weierstrass)

$$\Gamma(z) = \left(z e^{\gamma z} \prod_{n=1}^{\infty} \left(1 + \frac{z}{n} \right) e^{-z/n} \right)^{-1}$$

where γ is the Euler-Mascheroni constant.

In this note we give some formulas for $\Gamma\left(\frac{1}{3}\right)^3$.

Formulas for $\Gamma\left(\frac{1}{3}\right)^3$

Entry 1.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{2\pi}{\sqrt{3}} \int_0^1 (x-x^2)^{-2/3} dx$$

Entry 2.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi^3\sqrt{2}}{\sqrt{3}} \int_0^{\infty} \frac{1}{(\cosh x)^{2/3}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi^3\sqrt{2}}{\sqrt{3}} \int_0^1 \cosh^{-1}\left(\frac{1}{x^{3/2}}\right) dx$$

Entry 3.

$$\Gamma\left(\frac{1}{3}\right)^3 = 2\pi\sqrt{3} \sqrt[3]{2} \int_0^1 \frac{1}{\sqrt{1-x^3}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^{-3} = \frac{3}{4\pi^2\sqrt[3]{2}} \int_0^1 \frac{x}{\sqrt{1-x^3}} dx$$

Entry 4.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{6\pi^3\sqrt{2}}{\sqrt{3}} + \frac{4\pi^3\sqrt{2}}{\sqrt{3}} \int_0^1 \ln(1 + \sqrt{1-x^3}) dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi^3\sqrt{2}}{\sqrt{3}} \left(\frac{3}{4} + \int_0^1 x \ln(1 + \sqrt{1-x^6}) dx \right)$$

Entry 5.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi^3\sqrt{2}}{\sqrt{3}} \int_1^\infty \frac{\cosh^{-1} x^3}{x^3} dx$$

Entry 6.

$$\Gamma\left(\frac{1}{3}\right)^3 \left(\frac{3\sqrt{3}}{16\pi}\right) = - \int_0^\infty \frac{\ln x}{x^{1/3}(1+x^2)^{5/3}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 \left(\frac{6\pi - 9\sqrt{3}}{48\pi}\right) = \int_0^\infty \frac{\ln(1+x^2)}{x^{1/3}(1+x^2)^{5/3}} dx$$

Entry 7.

$$\Gamma\left(\frac{1}{3}\right)^{-3} = \frac{1}{\pi^2\sqrt[3]{2}\sqrt{3}} \int_0^{\pi/2} \sin x^{2/3} dx$$

$$\Gamma\left(\frac{1}{3}\right)^{-3} = \frac{1}{\pi^2\sqrt[3]{2}\sqrt{3}} \left(\frac{\pi}{2} - \int_0^1 \sin^{-1} x^{3/2} dx \right)$$

Entry 8.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi^3\sqrt{2}}{\sqrt{3}} \int_0^1 \sqrt[3]{\frac{x}{(1-x)^2(1+x)^5}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi \sqrt[3]{2}}{\sqrt{3}} \int_1^\infty \frac{1}{(x + \sqrt{x^2 - 1})\sqrt[3]{x^2 - 1}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^\infty \frac{\sqrt[3]{x}}{1 + x^2 + x\sqrt{1 + x^2}} dx$$

Entry 9.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^\infty e^{-x} \sqrt[3]{\sinh x} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{6\pi \sqrt{3}}{\sqrt[3]{2}} \int_0^\infty e^{-2x} \sqrt[3]{\sinh 3x} dx$$

Entry 10.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi}{\sqrt{3}} \int_0^\infty \sqrt[3]{e^{-2x} - e^{-4x}} dx = \frac{4\pi}{\sqrt{3}} \int_0^\infty \sqrt[3]{e^{-x} - e^{-2x}} dx$$

Entry 11.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{2\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^1 \ln\left(\frac{1 + \sqrt{1 - x^3}}{1 - \sqrt{1 - x^3}}\right) dx$$

Entry 12.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{10\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^1 \sqrt[3]{1 - x^2} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{10\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^1 \sqrt{1 - x^3} dx$$

Entry 13. For $0 < a < 1$, we have

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{10\pi \sqrt[3]{2}}{\sqrt{3}} \left(a F\left(-\frac{1}{3}, \frac{1}{2}, \frac{3}{2}, a^2\right) + \frac{3(1-a)^{4/3}}{2\sqrt[3]{4}} F\left(-\frac{1}{3}, \frac{4}{3}, \frac{7}{3}, \frac{1-a}{2}\right) \right)$$

where $F(u, v, w, x)$, is the Gauss hypergeometric function.

Entry 14.

$$\Gamma\left(\frac{1}{3}\right)^3 = 24 \int_0^1 \frac{x}{(1 + x^6)^{2/3}} \ln\left(\frac{1 + x^6}{x^3}\right) dx$$

Entry 15.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{20\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^1 x\sqrt{1-x^6} dx$$

Entry 16.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^1 \sinh^{-1} \sqrt{\frac{1}{x^3} - 1} dx$$

Entry 17.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi \sqrt[3]{2}}{\pi - \sqrt{3} \ln 2} \int_0^\infty \frac{\ln \cosh x}{(\cosh x)^{2/3}} dx$$

Entry 18.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^\infty \frac{1}{(1+x^2)^{5/6}} dx$$

Entry 19.

$$\Gamma\left(\frac{1}{3}\right)^3 = 2 \sqrt[3]{2} \int_{-\infty}^\infty \frac{e^{-x} \ln(2 \cosh x)}{\sqrt[3]{(\cosh x)^5}} dx = 2 \sqrt[3]{2} \int_{-\infty}^\infty \frac{e^x \ln(2 \cosh x)}{\sqrt[3]{(\cosh x)^5}} dx$$

Entry 20.

$$\Gamma\left(\frac{1}{3}\right)^3 = 2 \sqrt[3]{2} \int_0^\infty \frac{\ln(\sqrt{x} + \sqrt{x+1})}{\sqrt{x(x+1)} \sqrt[3]{x}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 12 \sqrt[3]{2} \int_0^\infty \frac{\ln(x^3 + \sqrt{x^6 + 1})}{\sqrt{x^6 + 1}} dx$$

Entry 21.

$$\Gamma\left(\frac{1}{3}\right)^3 = - \int_0^1 \frac{\ln(x-x^2)}{(x-x^2)^{2/3}} dx = -2 \int_0^{1/2} \frac{\ln(x-x^2)}{(x-x^2)^{2/3}} dx$$

Entry 22.

$$\begin{aligned} \Gamma\left(\frac{1}{3}\right)^3 &= 6 \ln 2 \sqrt[3]{2} \sum_{n=0}^{\infty} \frac{(2/3)_n 2^{-2n}}{n! (3n+1)} + 9 \sqrt[3]{2} \sum_{n=0}^{\infty} \frac{(2/3)_n 2^{-2n}}{n! (3n+1)^2} \\ &\quad + 12 \sum_{n=1}^{\infty} \frac{2^{-n}}{n(3n+1)} F1\left(n + \frac{1}{3}, \frac{1}{3}, \frac{2}{3}, n + \frac{4}{3}, \frac{1}{2}, \frac{1}{4}\right) \end{aligned}$$

where $F1$ is the Appell hypergeometric function.

Entry 23.

$$\Gamma\left(\frac{1}{3}\right)^3 = 4 \sqrt[3]{2} \int_0^{\pi/2} (\tan x)^{-2/3} \sec x \ln(\tan x + \sec x) dx$$

Entry 24.

$$\Gamma\left(\frac{1}{3}\right)^3 = 4 \sqrt[3]{2} \int_0^1 \frac{\tanh^{-1} x}{(1-x^2)^{2/3} x^{2/3}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 4 \sqrt[3]{2} \int_1^\infty \frac{\cosh^{-1} x}{(x^2-1)^{5/6}} dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 12 \sqrt[3]{2} \int_0^\infty \frac{\cosh^{-1} \sqrt{1+x^6}}{\sqrt{1+x^6}} dx$$

Entry 25.

$$\Gamma\left(\frac{1}{3}\right)^3 + 4\pi \sqrt{3} \sqrt[3]{2} = 36 \sqrt[3]{2} \int_0^\infty \frac{x^6 \sinh^{-1} x^3}{\sqrt{(1+x^6)^3}} dx$$

Entry 26.

$$\Gamma\left(\frac{1}{3}\right)^3 = 2\pi\sqrt{3} \sqrt[3]{2} \left(1 + \int_0^1 \frac{1}{1 + \sqrt[3]{1-x^2} + \sqrt[3]{(1-x^2)^2}} dx\right)$$

Entry 27.

$$\Gamma\left(\frac{1}{3}\right)^{-3} = \frac{3\sqrt[3]{2}}{4\pi^2} \int_0^\infty \frac{(1 + \sqrt{1+x^2})^{1/3} - 2^{1/3}}{x^2} dx$$

Entry 28.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi\sqrt[3]{2}}{\sqrt{3}} \left(\sum_{n=0}^\infty \frac{(-1)^n (2/3)_n}{(n+1)(4/3)_n} - \frac{1}{2} \sum_{n=1}^\infty \left(\frac{1}{n} - \frac{3}{3n-2} \right) \right)$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 6\pi\sqrt{3} \sum_{n=0}^\infty (-1)^n (2n+1) \left(\frac{(2/3)_n}{(4/3)_n} \right)^2$$

Entry 29.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{8\pi^3}{9\sqrt{3}} \sum_{n=0}^\infty \frac{((1/3)_n)^4 (7/6)_n}{(n!)^4 (1/6)_n}$$

Entry 30.

$$\ln \Gamma\left(\frac{1}{3}\right)^3 + \ln \frac{1}{2\pi\sqrt{3}} = \int_0^\infty \frac{(1 - e^{-2x})e^{-x}}{x(1 + e^{-x} + e^{-2x})} dx$$

Entry 31.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{10\pi \sqrt[3]{2}}{\sqrt{3}} \int_0^{\pi/4} \sqrt[3]{\frac{\cos 2x}{(\cos x)^8}} dx$$

Entry 32.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{4\pi \sqrt[3]{2}}{\sqrt[4]{3}} \left(1 + \int_1^\infty \left(1 - \sqrt{\frac{8(x^2 - 1)}{x^2(6 - \sqrt{3}) + x \sqrt{16(2 - \sqrt{3}) + x^2(2 + \sqrt{3})^2}}} \right) dx \right)$$

Entry 33.

$$\Gamma\left(\frac{1}{3}\right)^3 = 4\pi\sqrt{3} \int_0^\infty (\sqrt[3]{1 + x^3} - x) dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 4\pi\sqrt{3} \int_0^\infty \frac{1}{x^2 + x \sqrt[3]{1 + x^3} + \sqrt[3]{(1 + x^3)^2}} dx$$

Entry 34.

$$\Gamma\left(\frac{1}{3}\right)^3 = -8 \int_0^\infty \sqrt[3]{\coth x - \tanh x} \ln \tanh x dx$$

$$\Gamma\left(\frac{1}{3}\right)^3 = -8 \int_0^\infty \sqrt[3]{\coth x - \tanh x} \ln \operatorname{sech} x dx$$

Entry 35.

$$\Gamma\left(\frac{1}{3}\right)^3 = 8 \sqrt[3]{2} \int_0^{\pi/2} \frac{-\ln \sin x}{\sqrt[3]{\sin 2x}} dx = 8 \sqrt[3]{2} \int_0^{\pi/2} \frac{-\ln \cos x}{\sqrt[3]{\sin 2x}} dx$$

Entry 36.

$$\Gamma\left(\frac{1}{3}\right)^3 = 4 \sqrt[3]{2} \int_0^\infty \frac{x}{(\sinh x)^{2/3}} dx$$

Entry 37.

$$\Gamma\left(\frac{1}{3}\right)^3 = 18 \sum_{n=0}^{\infty} \frac{(2/3)_n}{(3n + 1)^2 n!}$$

Entry 38.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{12}{5} \pi \sqrt{3} \sqrt[3]{2} \sum_{n=0}^{\infty} \binom{2n}{n} \left(\frac{3}{10}\right)^{2n} F\left(2n+1, \frac{1}{3}, \frac{4}{3}, -\frac{1}{5}\right)$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 3\pi \sqrt{3} \sqrt[3]{2} \sum_{n=0}^{\infty} \binom{2n}{n} \frac{(-1)^n 2^{-3n}}{3n+1} F\left(\frac{1}{2}, n+\frac{1}{3}, n+\frac{4}{3}, -\frac{1}{8}\right)$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 3\pi \sqrt{3} \sqrt[3]{2} \sum_{n=0}^{\infty} \binom{2n}{n} \frac{(-1)^n 2^{-5n}}{3n+1} F\left(\frac{1}{2}, n+\frac{1}{3}, n+\frac{4}{3}, -\frac{1}{2}\right)$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 3\pi \sqrt{3} \sqrt[3]{2} \sum_{n=0}^{\infty} \binom{2n}{n} \frac{(-1)^n 2^{-6n}}{6n+1} F\left(n+\frac{1}{2}, 2n+\frac{1}{3}, 2n+\frac{4}{3}, -\frac{5}{8}\right)$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 3\pi \sqrt{3} \sqrt[3]{2} \sum_{n=0}^{\infty} \binom{2n}{n} \frac{(-1)^n 2^{-5n}}{3n+1} F\left(2n+1, n+\frac{1}{3}, n+\frac{4}{3}, -\frac{1}{4}\right)$$

where F is the Gauss hypergeometric function.

Entry 39.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{12\pi\sqrt{3}\sqrt[3]{2}}{5} \sum_{n=0}^{\infty} (-5)^{-n} \sum_{k=0}^n \binom{2k}{k} \binom{n+k}{n-k} \frac{(-9/20)^k}{3n-3k+1}$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 3\pi \sqrt{3} \sqrt[3]{2} \sum_{n=0}^{\infty} \frac{(-1)^n 2^{-3n}}{3n+1} \sum_{k=0}^n \binom{2k}{k} \binom{2n-2k}{n-k} 2^{-2k}$$

Entry 40.

$$\Gamma\left(\frac{1}{3}\right)^3 = 12\pi \sqrt{3} \sqrt[3]{2} \left(\frac{1}{3\sqrt{3}} + \int_{1/(3\sqrt{3})}^{1/4} \sqrt[3]{\sqrt{9+x^{-2}}-5} dx \right)$$

Entry 41.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{20\pi}{\sqrt{3}} \int_1^e \frac{1}{x} \sqrt[3]{(\ln x)(1-\ln x)} dx$$

Entry 42.

$$\Gamma\left(\frac{1}{3}\right)^3 = \frac{12\pi\sqrt{2}\sqrt{3}\sqrt[3]{2}}{\sqrt{43}} \sum_{n=0}^{\infty} \left(\frac{11}{172}\right)^n \binom{2n}{n} \sum_{k=0}^n \binom{n}{k} \left(-\frac{20}{11}\right)^k \sum_{m=0}^k \binom{k}{m} \frac{10^{-m}}{3k+3m+1}$$

Endnote

$$\Gamma\left(\frac{1}{3}\right)^3 = 19.22596945259569369138 \dots$$

$$\Gamma\left(\frac{1}{3}\right)^3 = 19 + \frac{1}{4 + \frac{1}{2 + \frac{1}{2 + \frac{1}{1 + \frac{1}{5 + \frac{1}{1 + \frac{1}{2 + \frac{1}{14 + \dots}}}}}}}}}}$$

References

- [1] Andrews , G.E. , Askey , R. , and Roy , R. : Special functions. Encyclopedia of Mathematics and its Applications, 71 , 1999. Cambridge University Press.
- [2] Artin , E. : The Gamma Function. Holt, Rinehart and Winston, New York , 1964.
- [3] Barnes , E.W. : The theory of the gamma function. Messenger Math., (2), 29 , 1929.
- [4] Gradshteyn, I.S., and Ryzhik, I.M. : Table of Integrals, Series and Products. 5th ed., ed. Alan Jeffrey. Academic Press , 1994.
- [5] Spanier, J., and Oldham, K.B. : An Atlas of Functions. Hemisphere Publishing, 1987.